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1. HHEN
BESHERSTS 1T & 50,000
avhE—)Laz=wyk 10 & 1,200 12,000[EA &% 10 &
SEIJLKR—X 25 K 1,000 25,000/ BAE#*2.5 25 K
SEAETIF 5 & 500 2500|EAEH/2 a8
2. MM EHEE
BERERST 1T & 67,000
avbA—)Laz=whk 10 & 4000 40,000
SEIJLR—X 25 =K 3,000 75,000
SEME TS F 5 & 2,400 12,000
3. MBE KOvyFHARIZ&Y HEHNERLET,
SHIEES A X L 750 H-300 BAARHHIL 0L
H-350 BAB#H*2L 20 L
H-400 BAB#H*4L 40 L
H-500 EAB#*6L 60 L
4. BHE XOpyF I ALY AT(FLA—RI)
N TARL—Z—F Al 1T AL 36,100 »AERELET,
JLo—kT 2 ANTLT 32,900 36,100 EABHSAIZMHIATL 2 AT
5. Z&EEE
FEED3I0% 1T =% 21,660
6. ZHE MABE (BMEWRE) (L.
RBE(BMERESD) 1 = 25,000 HEIHATICk>TERELET,
X OERSRECE CHEEEHEISENTBYEE A,
&ite% 402,360 L& Y1 X5 HESROE,

KBg, RERBAENRERLES,
HFTERARA
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1. #MEN
BERERST 1T & 50,000
avhE—)La =k 15 & 1,200 18,000[EA &% 15 &
SEIJLKR—X 375 XK 1,000 37,500(BAE#*25 375 K
SEAETIF VAR 500 3,500|EAEH#/2 78
2. MM EHEE
BERERST 1T & 67,000
avbA—)Laz=whk 15 & 4,000 60,000
SEIJLR—X 375 =K 3,000 112,500
SEME TS F VAR 2,400 16,800
3. MBE KOvyFHARIZ&Y HEHNERLET,
SHE/EEN R 15 L 750 11,250 H-300 BABH*IL 15 L
H-350 BABHL 30 L
H-400 A B AL 60 L
H-500 A BH6L 90 L
4. FHE XS pyErBIAaHIcLY AT(FLO—RI)
N TARL—Z—F Al 1T AL 36,100 »AERELET,
JLo—kT 3 AL 32,900 36,100 EABHSAIZMHIATL 3 AL
5. ReEHE
F5ED3I0% 1T =% 21,660
6. ZHE MABE (BMEWRE) (L.
RBE (KM EREST) 1 = 25,000| MR-k THERLES.
X OERSRECE CHEEEHEISENTBYEE A,
&ite% 4954101 L& Y4 X5 HESROE,

KRR, EERMNENREERLET,

HFIERARHE
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. HEAER
BERERST 1T & 50,000
avhE—)Laz=wyk 20 & 1,200 24 000|EAE# 20 &
SEJLKR—X 50 K 1,000 50,000[FEAE#*2.5 50 &
SEAETITF 10 & 500 5000(FEA&%/2 10 &
M EREEE
BERERST 1T & 67,000
avbA—)Laz=whk 20 & 4000 80,000
SEIJLR—X 50 & 3,000 150,000
SENE TS F 10 & 2,400 24,000
. MHE KOvyFHARIZ&Y HEHNERLET,
SHIEVEED X L 750 H-300 HABH*IL 20 L
H-350 BABHL 40 L
H-400 A B AL 80 L
H-500 A BH6L 120 L
FEE XS pyEr I aHIcLY AT(FLO—RI)
N TARL—Z—F Al 1T AL 36,100 »AERELET,
JLo—kT 4 \T 32,900 36,100 EABHSAIZMHIATL 4 \T
. ReEHE
F5ED3I0% 1T =% 21,660
. ERE KA E (B EWRE) L.
RBE (KM EREST) 1 = 25,000 MBIk THERLES.
X OERSRECE CHEEEHMISENTEYEE A,
&ite% 568,860 L& HaXBl HESHBOE,

KRR, EERMENREERLET,

HFIERARH
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25BLLT
i R ATk HE L=< i &R =
1. HHEN
BESHERSTS 1T & 50,000
avhE—)Laz=wyk 25 & 1,200 30,000|EA&# 25 &
SEIJLKR—X 625 K 1,000 62,500/ BAE#*2.5 62.5 &
SEAETIF 12 & 500 6,000|EAEH/2 12 &
2. MM EHEE
BERERST 1T & 67,000
avbA—)Laz=whk 25 & 4000 100,000
SEIJLR—X 625 =K 3,000 187,500
SEME TS F 12 & 2,400 28,800
3. MBE KOvyFHARIZ&Y HEHNERLET,
SHIEES A X L 750 H-300 BAARHHIL 25 L
H-350 BAB#H*2L 50 L
H-400 BAB#H*4L 100 L
H-500 EAB#*6L 150 L
4. BFHE XS pyEr I AaHIcLY AT(FLO—RI)
N TARL—Z—F Al 1T AL 36,100 »AERELET,
JLo—kT 5 AL 32,900 36,100 EABHSAIZMHIATL 5 AT
5. Z&EEE
FEED3I0% 1T =% 21,660
6. ZHE MABE (BMEWRE) (L.
RBE(BMERESD) 1 = 25,000 HEIHATICk>TERELET,
X OERSRECE CHEEEHEISENTBYEE A,
&ite% 650,660 L& Y1 X3 HESHROE,

KRR, EERMENEERLET,

HFIERARHE
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i R ATk HE L=< i EER =
1. HHEN
BESHERSTS 1T & 50,000
avhE—)La =k 30 & 1,200 36,000|EA&# 30 &
SEIJLKR—X 75 K 1,000 75,000/ A &#*2.5 75 &
SEAETIF 15 & 500 7,500|EAEH/2 15 &
2. MM EHEE
BERERST 1T & 67,000
avbA—)Laz=whk 30 & 4000 120,000
SEIJLR—X 75 =K 3,000 225,000
SEME TS F 15 & 2,400 36,000
3. MBE KOvyFHARIZ&Y HEHNERLET,
SHIEESA X L 750 H-300 BAARHHIL 30 L
H-350 BAB#H*2L 60 L
H-400 BAB#H*4L 120 L
H-500 EAB#*6L 180 L
4. BFHE XS pyErBIAaHIcLY AT(FLO—RI)
N TARL—Z—F Al 1T AL 36,100 »AERELET,
JLo—kT 6 AL 32,900 36,100 EABHSAIZMHIATL 6 AL
5. Z&EEE
F5ED3I0% 1T =% 21,660
6. ZHE MABE (BMEWRE) (L.
RBE(BMERESD) 1 = 25,000 HEITHATICk>THERELET,
X OERSRECE CHEEEHEISENTBYEE A,
&ite% 735,360 LiFE Y1 X5 HESROE,

KRR, EERMNENREERLET,

HFIERARHE




FLO—RI EREE B

SHM7HE8A

3bHELT
i R ATk HE L=< i EER =
1. HHEN
BESHERSTS 1T & 50,000
avhE—)La =k 3B & 1,200 42,0001 BEAEH b A&
SEIJLKR—X 875 XK 1,000 87,5600/ BA&#*2.5 8756 X
SEAETIF 175 & 500 8,750|EAEH/2 175 &
2. MM EHEE
BERERST 1T & 67,000
avbA—)Laz=whk 3b & 4000 140,000
SEIJLR—X 875 =K 3,000 262,500
SEME TS F 175 & 2,400 42,000
3. MBE KOvyFHARIZ&Y HEHNERLET,
SHIEESA X L 750 H-300 BAARHHIL 35 L
H-350 BAB#H*2L 70 L
H-400 BAB#H*4L 140 L
H-500 EAB#*6L 210 L
4. BFHE XS pyErBIAaHIcLY AT(FLO—RI)
N TARL—Z—F Al 1T AL 36,100 »AERELET,
JLo—kT 7 AL 32,900 36,100 EABHSAIZMHIATL 7 AL
5. Z&EEE
F5ED3I0% 1T =% 21,660
6. ZHE MABE (BMEWRE) (L.
RBE(BMERESD) 1 = 25,000 HEITHATICk>THERELET,
X OERSRECE CHEEEHEISENTBYEE A,
&ite% 818,610 LiFE Y1 X3 HESHROE,

KRR, EERMNENREERLET,

HFIERARHE
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1. #MEN
BERERST 1T & 50,000
avhE—)La =k 40 & 1,200 48,000 BEAEH 40 &
SEIJLKR—X 100 =K 1,000 100,000 (FEA&#*2.5 100 &
SEAETIF 20 & 500 10,000|BEA&B%/2 20 &
2. MM EHEE
BERERST 1T & 67,000
avbA—)Laz=whk 40, & 4,000 160,000
SEIJLR—X 100 XK 3,000 300,000
SEME TS F 20 & 2,400 48,000
3. MBE KOvyFHARIZ&Y HEHNERLET,
SHIEVEED X L 750 H-300 HABH*IL 40 L
H-350 BABHL 80 L
H-400 A B AL 160 L
H-500 A BH6L 240 L
4. FHE XS pyErBIAaHIcLY AT(FLO—RI)
N TARL—Z—F Al 1T AL 36,100 »AERELET,
JLo—kT 8 AL 32,900 36,100 EABHSAIZMHIATL 8 AL
5. ReEHE
F5ED3I0% 1T =% 21,660
6. ZHE MABE (BMEWRE) (L.
RBE (KM EREST) 1 = 25,000| MR-k THERLES.
X OERSRECE CHEEEHEISENTBYEE A,
&ite% 901,860 L3 Y41 X3 HESROE,

KRR, EERMNENREERLET,

HFIERARHE
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